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a=imread(  'e:/lena.bmp’ );
figure(1)
imshow(a)
b=a(:);
Smax=max(b);
Smin=min(b);
TO=(Smax+Smin)/2;
delta=1,
while  delta>=0.1
clear R1 R2
m=1;
|=1;
for n=1:65536;
if  b(n)<=TO
R1(m)=b(n);
m=m-+1,;
else
R2(1)=b(n);
|=1+1;
end
end
Tnext=0.5*(mean(R1)+mean(R2));
delta=abs(Tnext-TO);
TO=Tnext;
end
for n=1:256
for m=1:256
if a(n,m)>=T0
c(n,m)=1;
else
c(n,m)=0;
end
end
end
figure(2)

imshow(c)
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ciapday
’—R >
start readimags kMeans = 80
+ Fames: 1
O = @y T AL, ,
filename: C:\Docu. . nitMeans: aut -
type: Auto numClusters; 3 B
maxlterations: 10000 r
T name: 2
histogram graph
—I . . A\ e
type: nomal grTitle: Graph
nbins: 256 rame; Curve
lo: 0
hi: 255
useMask: Mo
CIERERNREREEN
tic
img= imread ( ‘e:/lena.omp'’ );
[m,n]=size(imQ);
subplot(2,2,1),imshow(img);title( oooot)
subplot(2,2,2),imhist(img);title( oooogot)

hold off ;

img=double(img);

for i=1:200

c1(1)=25;

c2(1)=125;

c3(1)=200;

r=abs(img-cl1(i));

g=abs(img-c2(i));

b=abs(img-c3(i));

r_g=r-g,

g_b=g-b;

r_b=r-b;

n_r=find(r_g<=0&r_b<=0);

n_g=find(r_g>0&g_b<=0);
n_b=find(g_b>0&r b>0);

I=i+1;

cl()=sum(img(n_r))/length(n_r);

c2()=sum(img(n_g))/length(n_g);

d1(i)=(c1(i)-c1(i-1))"2;
d2(i)=(c2(i)-c2(i-1))"2;
d3(i)=(c3(i)-c3(i-1))"2;

c3(i)=sum(img(n_b))/length(n_Db);

if  d1(i)<=0.001&&d2(i)<=0.001&&d3(i)<=0.001

R=c1(i);
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G=c2(i);

B=c3(i);
=i
break ;

end
end
R
G
B

img=uint8(img);
img(find(img<R))=0;
img(find(img>R&img<G))=128;
img(find(img>G))=255;

toc
subplot(2,2,3),imshow(img);title(
subplot(2,2,4),imhist(img);title(

25 O0O0ooood

10 MATLAB O0OO0OO
oboogod K=3
ogtg
R =68.3649
G =129.3456
B =181.5449

‘googg o)
‘gooboooog )

00000 Elapsed time is 3.042837 seconds.

OoO0dnd n=256
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oogod K=3

0000 R=66.6439
G =124.791

B =175.847
00000 Elapsed time is 2.359378 seconds

—T———m

float32 [3]
0: 66.6439
1;: 124.791
2- 175.847

x-axis
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1
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| 1+e “ T énet,
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close all;
clear:;

clc;

tic;
P=[-3-1-542-4-21431-3,52141-1-3-1-2-45-6];%R10000
T=[1111010000107; %TOOO0O
figure,plotpv(P,Mtitle(O DO OO OOOOOOO HO
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net=newp(minmax(P),1); OoOooooooo ,0Jodod

linehandle=plotpc(net.IW{1},net.b{1}); %net.iwl O ,net.bl] O

E=1:n=0;

while(sse(E)) %OoOOoooooo
[net,y,E]=adapt(net,P,T); OOUOoooooooo
n=n+1,;
perf(n)=sse(E); %O0O0000

linehandle=plotpc(net.IW{1},net.b{1},linehandle);drawnow;

%O 0000
end
toc;
n %0000
figure,plot(perf) titte( D O DO OOOOO ), UOOOOOon

D20000000000000
Jo0o0ooooooooonooooboooooooobooooogoo
Jodoodoobooooouooooooboooobooooboooooon
Jodoodoobooooouooooooboooobooooboooooon
Jdoooooooooo leaermmprid 0000000 OO0OOOONO
Oooon
close all;
clear;
clc;tic;
%POOOOO
P=[-3-1-542-4-214315052141-1-3-1-2-4510];%T0000O0O
T=[1111010000107;
figure,plotpv(P,T) title(O O DO OO %% UO0OO0OO0O0OOOO
net=newp(minmax(P),1,'hardlim’,'learnpn’);% O O O 0O 0O 0O O O
linehandle=plotpc(net.IW{1},net.b{1});
E=1;n=0;
%OOOOooooodg
while(sse(E))
[net,y,E]=adapt(net,P,T);
n=n+1;
perf(n)=sse(E);
linehandle=plotpc(net.IW{1},net.b{1},linehandle);drawnow;
end
toc
n
%O OO0O00
figure,plot(perf) titte( I OO OOOOO %% 00000000
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close all;

clear;

clc;tic;

P=[-3-1-542-4-21-231-3;

22141-10-1102-2];%PO0O0O0O0O
T=[111101000010;

111111111111 ),%T00000
figure,plotpv(P, T title('CD OO0 OO % U U0O000O0O00O0OO
net=newff(minmax(P),[9,9,2],{'tansig','tansig’,'purelin’},'trainlm');% 0O O 0O 0O O
0000
inputWeights=net.W{1,1}% 0000000000
inputbias=net.b{1},
layerWeights=net.LW{2,1}% 0 0 0 00 00O 0O O O
layerbias=net.b{1},
outputWeights=net.LW{3,2}

%OOOOoo

% net.trainParam.show=50;

% net.trainParam.Ir=0.05;

% net.trainParam.mc=0.9;

net.trainParam.epochs=100;% 0 0 OO0 O OO 10000 O
net.trainParam.goal=1e-2;%1 0 0 0 [
[net,tr]=train(net,P,T);%0 0 TRAINGDM 0O OO0 BP OO
toc

A=sim(net,P);% 0 0000000 0O0OOOOO0O0O

A

E=T-A;

MSE=mse(E)%L I O [

35 0Uoogon

100000000
00000 Elapsed time is 0.582415 seconds.
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00000 Elapsed time is 1.417897 seconds.
A =
Columns 1 through 9
1.0415 0.9667 0.9916 0.9907 0.0319 0.6505
-0.0433 0.0519
1.0794 1.0450 1.0804 1.0389 1.0097 1.0512
1.0329 1.0310
Columns 10 through 12
-0.0019 0.9765 0.2385
0.9651 1.0132 1.0195
MSE =
0.0089

Joooogg

P(2)
4
*
.*.
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